Тема. Преобразование логарифмических выражений
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Baok IIT:

HaiianTe 3HaUeHHe BhIpaKEHHsI

(logs81) - (logg216) =

4.3=12

1.

(log,16) - (loge36),
(logg216) - (logy729),

9. (logg36) - (loge81),

2. 10. (10g,8) - (log39),
3. (logs125) - (log,16), 11. (loge36) - (1og,256),
4. (log;343) - (log,8), 12. (logy128) - (logs 36),
5. (logy81) - (log,64), 13. (10g3243) - (logg512),
6. (logg512)- (log,32), 14. (logy81) - (log,64),
7. (10g327) - (log,343), 15. (logg64) - (log, 16),
8. (10g39) - (log;49), 16. (10g,8) - (log3243),
17. (log,32) - (logs125),
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Baok IV: HaiinuTe 3HaueHHe BLIPAKEHHSI
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